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Standardized Test
of English Proficiency (STEP)

5
______ Grammar
1-The Short and Long forms of ( V. to be ) JUSCTRTITIT
e 7 =
'.L.-’\l'llrn'natwe ;;L_J;HJ [ Negative ,aul j
Present Past Present ‘ Past
Tam I'm I was I am not I am not I was not I wasn't
he is he's he was he is not he isn't he was not he wasn't
she is she's she was she is not she isn't she was not she wasn't
itis it's it was itis not itisn't | it was not it wasn't
they are they're they were they arenot | theyaren't | they were not they weren't
we are we're we were | we are not we aren't we were not we weren't
you are you're : you were you are not you aren't you were not you weren't

2- The difference between (Let's) and (Let)

Let's play football.

Cns 38!

eaat! B Jabd Lacias il o 71,58 pusis Tet's” o ¢ ey

L Jkaal] B Jab + (US gi ME) Jgaie Louas by olatiusw det, .
Let me show you something.
Let us go to the club.

3- The relative pronouns ( who - that - which - where ).

Jile Jeld Jovs Yot day) sreiaS (Who / that ) pusc =
A teacher is a person who / that teaches pupils.
These are the people who / that saved the boy.
Jile jué Jeld oo Jouid dayy jreuas. (Which / that) sesc s,
A horse is an animal which / that carries people.
A key is a thing which / that open a door.
Olse 1 pedat (Where) pascs L
A school is a place where we can learn and play.
Al i1 Jaats "Ing"" 2BListy JBLaY! Jelat) Joma oy ST Ju g1 praide Bk ((Sees © i Y
This is the boy who helps the poor. » This is the boy helping the poor.

Juo 371 praiin ps (V. 10 bE) it o s (V. 10 D) oty sl 13 Juo g1 pois Bis s
The novel ,which was written, was good. » The novel ,writtcn, was good.
The book ,on the desk, is mine.

h J

The book ,which is on the desk, is mine.
Jniall Jous Jon 13] i g1 pbanis cBiton (35t bns’
The letter you wrote is so long.

Y

The letter which you wrote is so long.

— e



L

4- How to make a question ?
LIV (O TPV ROLYL EPR e
+ (00 0959 el (8 osun o busall Jadll suomyg 10 g1 (YESs + 2 dislan| 98T g delie Jady Ty S5 -
helping verb + subject + main verb + .......

colicel! Jaall + Jelall + ulu¥) Jadll + Aot 8L

G

Do you have a car ? Yes [ do / Noldon't

Did you buy the house ? Yes 1 did / No Ididn't

Is he going to watch the news ? Yes heis / No heisn't

Will they come early ? Yes they will / No they won't
Have you finished ? Yes I have / No I haven't

Can she swim ? Yes she can / No she can't

» ML At i pin Blial 154l B >3 (sudd A1 g Shipiian Rt Wby I Y

PleiiuY 1 Aals + soluell Jaisll + Jolall +pulud! Jadll + Aestl Bl

rolmo Ll wlols

What — (e0) Where —_— (O1se) Who —— (o)
When — (2d4) Why —_— (st 1) How ——in (Asaust)
How many ———p  (saall) How much ——» (Ases) How often ———» (& padl 3ue)
I have bought a car lately. »  What have you bought lately ?

She will travel to Paris. »  Where will she travel ?

They finished a minute ago. »  When did they finish ?

Y

I go to school by bus. How do you go to school ?

He was absent last week because he was ill.

Why was he absent last week ?
Why did he come ?
How often do you go to the club?

Y

He came to / in order to see you

I go to the club three times a week.

L

latl (pe) g e Lucal) Jaall S 28T : ooy

e Lucall Jaatl @3 ¥ 5} duat ol susatt 3k (How many) s(How much) o

She bought three books yesterday.

\J

How many books did she buy yesterday?

I want little sugar please. »  How much sugar do you want?

LS puingd 5 Jelall LBl (tad duslall Alestl Jeld Jove (i g Suclall ois Lgude Gudaii ¥ (Who) i« dasy
Ali is writing a paragraph now. »  Who is writing a paragraph now?
Who did you go with? Salad) I3 ) Al plo puits delice Jab 2505 Lol Jgaie oo (WhO)eda (31 Le]

5- Question tag : that expect the answer (Yes)
Ao ¥ Aeat! Jold e 3gas Jold praissy Aend | (pa) coon uolus Jad b il 1) Bl Tusle Alea (e (3950 AL (ye p a3 Llia ¥
(i Alan! Blgh B deluell Jaall (98 “VES s il dad giall Aula ¥ OIS 13) : Lan ¥
Youssef plays tennis well, doesn’t he ? Yes, he does.
They go to the club, don’t they ? Yes, they do.
You broke the window, didn’t you ? Yes, I did.
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Standardized Test
Of English Proficiency (STEP)

She is a doctor, isn’t she? Yes, she is. 4-
Ali can swim, can’t he? Yes, he can.
Ahmed has bought a car, hasn’t he? Yes he has.

he

6- Question tag : that expect the answer (No)
(Ciie Alaon ! Aulgh B ebiuall Jaad! (9Ss “NO” 4 15l A8 el Bl 1 CBIS 3] - oo =

la ¥l B Jold pred plusiiul fpe ¥ D
Mona doesn’t drink milk, does she ? No, she doesn’t. D
They don’t come early, do they? No, they don’t. &
You didn’t accept his opinion, did you ? No, I didn’t, W
They aren’t pupils, are they ? No, they aren’t. H:
Ali can’t read well, can he ? No, he can’t. C;

Ahmed hasn’t bought the house yet, has he ? No he hasn’t.
7- The present simple tense . laa

sehimall B Jadd) JSb (pudh 98 dasidd| ¢ jlinet
1, We, They, You work hard.

(he / she / it) He, She, It works hard. _stat s ,aell jues ps Jastt 5" Blas
2 4GV Cllgid| (oo Buism gy g Jaall OIS 31 (he / she / it) .cslat 3 pa0l) piain pa UESH Bl o =3
(“0”, ¥ss”, “sh™, “ich”, "x") W
g0 —>  gocs Cross ——>» Crosses W
wash ———»  washes watch —— watches fix —» fixes H
(he / she 7 it) . Cusladt s el jaaus pa 1€8) S Clad (Shu o Lelid Y 5 i Sl IS & I
I study my lessons. She studies her lessons. St
(he /she /it) . colan s aatt puais po 817 Capdad 5 alah it povie cyom Lglid Y 3 s Jadd | IS 51 T
I play well. She plays well.
(“a”, “e”, “17, “07, “U”) : Lo A jouialt g Lf
hale e e dosendl g planedlaass H.
I usuall.y go to the club. She always visits her gmndParents. | s
The train leaves at ten. ($95 JSidy i Bale (ge puad Lgh Y dasiay £jliae Lis Alasndl (e o Sas s
The sun rises in the east. The moon moves round the Earth. )
s Obilie g Odlolgell uuelse Jhe Al By ygut) wuslgell po Juiiasd) e prand davuedl g slnel | ausi o Sk
The train leaves at ten tomorrow. Our exam is next June. i
Key words laauadl &jLa ol poj e &la wilols
—— Al
every, never, rarely, often, sometimes, usually, always W
The Negative _au
b YIS daed| g slinadl B Jadll 2 5-
I, we, they, you don’t + inf. he, she, it doesn’t + inf.
We don't eat fish. He doesn’t drink milk.
The interrogative gy Yo
Wh word + (do / does) + subject + V. ininf. + ....... TR [ W [OPC- Tt
Where does she go? When do you have breakfast ? e

I



L ——

YES” 3 J1satl e wala 1 1985 (DO / D0CS) welusalt Jaitly g 5 ipledia¥) 2alS {guns (ST g Babaad! oS 301 i (o 1l 53855 O 350

9 “No” J‘
% Does he go to school ? Do they like fruits ?
, =)
| 8- The present simple passive tense  wc.sip ladgi e 2 Jssamall
- is \ are + P.P + by + Subject
il (o daud) g linadl 3 Jggamall O 9S
Ali washes the car
The car is washed by Ali. OR The car is washed.
s WL 5l Uigal) 5l Aaiall Gt darwd | g )linedt gs (V. 10 bE) pusiin
I'm a Muslim. He is a doctor. You are clever. oLay
‘_: I am not a Christian. He is not a doctor. You are not clever. it
: Are you a Muslim? Is he a doctor? Are you clever? pleaiud)
- 9- The present continuous tense i g liaa
- Hlesal! JS pe ing+ Jaatt + (V. 10 DE) (o saiunal | g jlinadt (g
am/is/are + verb+ing
- O S Jaf e pead jeliel |t_}l..n.;.'l' Padsliugg
Iam
He, She, It is watching T.V now.
» We, They, You are
Look, he is running after a rabbit. look , listen 2 e ol gt 443 1) JLad Y pa punice LeS
. I’'m traveling to Paris tomorrow. § el l B gy ALGEL e dasit) @3 Jladl (e jueenild o
oua 3 5 ( See / smell) Jie uigsti 4 (believe / think) Jae wrissati 4 (love / hate) @,Mldmiywnajmtfm ¥ odaay
ot g slinel) alowe Jong Alland
I see a cat now.
i come coming  dng, asla) Jd ausd € 4 eiis Jadd! IS ]
die dying INZ AL} i (Y 31 Jgmi 107 5 g Jaah! BIS 13
- (NG Wblin e 1us¥1 o i Liny oyl il s B s (5S s By gl S OIS 15
pui putting run running
e 8y (28 B e (S By € Jaal) OIS 3] s ¥ B ot asliny ¥
meet meeting cook COOki['lf__’.
- 1~ Sy, [P T §
! NECY WOrdsS ol 1 LA Glels
now, at the moment, in the present time, at present. look. listen,
The Negative _au
NG +Jaatt+n0t + (V. t0 be): » reduall g slinall Lty
= am/1is/are + not+ verb +ing _
7 I am not
He, She, It is not watching T.V now.

We, They, You are not



Standardized Test
of English Proficiency (STEP)

The interrogative .y

Wh word +am / is / are + Subject + V. + ing. + .......

\/

O J 15| O
What are you doing ? Where is she going at the moment ?
N0, 51 (Y€Ss 3 J1gautl (s Wyl 1 019559 (AT / IS / AT€) e Lusadt Jadtly gy ¢ plodian! RalS gt O8I 9 Galaadt oy s (p Wl (9550 O (Seas

Is he doing his homework ? Are they watching T.V now ?

10- The present perfect tense .,

3 have / has +p.p
P (e plal gl s
I, We, They, You ————— have He, She, t —————— has
b 0o el il poliaedt i
I have just finished my homework. s (pa) das il darutl ulel) O dasuatdl (oLt (pung dices Lid B pallg = s pa0) uislall L3 2 oo
She is tired becouse she has worked a lot today. 0,31 Ik (ST g (g0 g udlad) B g3 tai
He has worked in this company for three years. (Jea: Ji5le 5) ¢ pulond | (B Gty J1he g iblell B S s Laz

:

Key words olidl &jLasll (o) gde dlla wlods

yet - already - just - ever - never - recently - lately - for - since - so far -

The Negative =

have /has + not +p.p
> :._rpl]]it;'u-'ﬂ-a—"__.,‘—'_.

We haven’t finished yet. He hasn’t travelled recently.

: Lt gyliaatt pe “NIOE” (pe Yoty LAllE “NIEVEr” pluiias! (Sias - oo &

She has never seen a lion. They have never drunk milk.
The interrogative agac.y
Wh word + have / has + Subject + PP+ ....... =
O Jd o
What have you studied lately ? Why has he bought a car ?

“NO” g1 “yes” 4 gt (e Bl 1 89S g pledia 1 elS {guns Gaboall o 5 pudd (o JVaad | 0550 O e
Have you studied English lately ? Has he bought a car ?

The present perfect passive tense  awig ladie; & Jsemel!

have / has + been + P.P + by + Subject

P (e plidh g olinad! B Jagaad! e
Ali has bought a very good car
A very good car has been bought by Ali . OR A very good car has been bought.
11- The present perfect continuous tense  c.oisigla
have / has + been + V. ing

> &'M'?m't_’]w‘-g
I 3 51 (B patiena Jjle (819 alall B adg Jad (e piadd elusalt pl g jlinel| pusca
I have been watching T.V for three hours now.

I have been studying all the day.

(&

9.

pu

m

no

Ia
He

We



Key words joiuuoll olill £jlaodl (0j gde ddla wlols

now - all the time - for - since

The interrogative .y
Wh word + have / has + Subj. + been + v. + ing

B (e JIpad | 5555
where has she been working ? How long have you been playing football ?
“NO” i «yes” o Jipad iy dle M1 (5S5g pleaiu ¥ Gl {guts ol 5l (pudd (o J 13| 0355 OF (Say
Have you been Studying English ? Has she been working in Riyadh ?
The difference between the present perfect & The present perfect continuous ol | AT g sluiatlg alid) g slualll St (8 pad

kst B8 (3 5iuis 1) Jad¥1 s (ol ghcie (3Lia 331 -
He has lived here for ten years. = He has been living here for ten years.

He has lived here since 1999. = He has been living here since 1999.
He has been reading for two hours, s Alesd) B ol gl e 3850 Louie patunal | pli g linat | pudiiin - ¥
He has read 3 books. s ade gl ) le Alasd | Crgion | 13 a1 ¢ slidnall puidniu ¥

12- The past simple tense s ol

V. +ed
(plaiie Jaali OIS o3)  Slesall JS ase —eby@.‘.@@,.bmw,n_;

She watched T.V I washed my clothes yesterday.
f e o LS kol (815 LA Lgule Gudaii ¥y (irTegular) deliiie ,ud Jlabi otlis - Lo
go —» went buy ——» bought eat ——» ate
He went to the club last week. We bought a house three years ago.
Aladall JS oo ded, ol (S L iy Lglid Y7 s (g Sl OIS 1)
study — studied copy ——» copied
I studied my lessons. She copied the lessons.

(T3t ]

Pl JS e €007 Lapuial g culaS ¥ & poie B Leld YT gt Jadll OIS 13

play —— played stay ——» stayed
(“a”, “e”, “1”, “0”, “U”) : b 48 youiall g st
She stayed there I played well.

“ed” o) Ld ¥ B et il (o pie di (SLu LB s (g5 g U lg adadie (e (g5e Jaall OIS 13

stop — stopped plan — planned

They stopped in the middle of the street. They planned to the operation last month.

die —» died lie —— lied dazd “d” Al canny ¢ O Jaall gt
He died in 2000. They lied to me.
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Key words sl waaloll yoj gle @l wilols

yesterday, last (week / month / year) , ago

sinident | (na (8 sal | dao Y
My grandfather used to play football. used to +inf  (LaBald mastl)

My father is used to playing football. am/is/areused to + v. +ing  (jeiuwe daml)

The Negative _au
V. + did + not + inf. (juwas)

> £ 2 dagud! ualel) 2
We didn’t go to the cinema. You didn’t eat well,

The interrogative iy
Wh word + did + Subject +inf +.......

R L L
What did you buy yesterday ? Where did he go last year ?

“NO™ 5i »yes” 4 gisudt (e Gl 1 0555y (did) usbued) Jadtl iy plediu ¥ Aals &gu STg Gkt | a2 i (po Vgl 985 O (S
Did you study English last week ? Did she buy a car ?
The past simple passive tense s asledi b Jpgmnall

was / were + PP + by + Subject

O dauad) bl o8 Jggamel | Dai

Ali bought a very good car.
A very good car was bought by Ali. OR A very good car was bought.
13- The past continuous tense el l el
et gS pe  ING+ daat + pastatt 3 (V. 1O D) (o patunatt puslers s
was / were + verb +ing
OB gi (5T g et JSi el (B o OIS JaB (0 sl pasi s
I, He, She, It was watching T.V . We, They, You were watching T.V .

g 511 g (st sl ) bl it dalad g (paons ioln) paiows S unlad) b ikong OIS Siokn (32 pmacy
He was watching T.V when the door bell rang.
While he was playing, the light cut off.
While playing, he fell to the ground. while + v.+ing
The Negative _an

. ING + JaattiNOLs ualadt o (V. 10 DE) s potuwell usladl oo
was / were + not + verb + ing

I, He , She, It was not watching T.V.
We, They, You were not watching T.V.

The interrogative gy
Wh word + was / were + Subject + V. + ing. + .......

Where was she going ? What were you doing ?
“NO” gi “yes” 2 Jigutt e w1 ps5g (Was / Were) aebuad) Jaatls lugs pleamud) RalS g (ST g Gabad| ol 5501 i (p0 Jiaad | 0585 O S

Was he doing his homework ? Were they watching T.V ?
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14- The past perfect tense ALt ubati i
: i
silesial! S a s ——a—EP»-)- O pL ol g8y
She had bought a new house.
ol uioladl B ST Gl g pL ublal) 8 Jo¥ o] il (pdled| b (puladl G (3]« s

After I had finished my work, I slept. When I reached the railway station, the train had left.

Key words oLl gualoll (o) e @lla wlols

after, as soon as, when, until, till, before, by the time

The Negative _au
m 3-’[‘1-‘!-”(;@“'@-&;-_!
We hadn’t finished until the bell rang.

The interrogative gy
Wh word + had + Subject + PP+ .......

B Oa Jadl O
What had you studied ? Why had he bought this car ?
«NO» 5 (YESY 3 Jiautt s Al 31 39559 (HAd) e lvadt Jaally Ty gipledius Y1 AalS ¢y 9us (1S3 5 Baliad| i 301 i (e 13?0935 O (S
Had you studicd English ? Had he bought a car ?

The past perfect passive tense  aui Lol 3 Jpgamat!
had +been + P.P + by + Subject

Pl ulad) B Jaganal| oS
Ali had bought a very good car.

A very good car had been bought by Ali. OR A very good car had been bought,
15- The Future tense ..
will + inf. :
T O o
il | B Gty By Jad (ye | piadd (v.to be) am \ is \ are + going to + inf. ;e o
Ali will travel abroad. We are going to study hard.

Key words (Judiwoll (o) e dlla wilols

next - tomorrow - in the future

The Negative _au
will + not + inf.
__""M—" (_;.Lm‘) :..}Wluﬂ:;

am \ is \ are + not + going to + inf.

B

e (juuaa)

Ali will not (won’t) travel abroad. We are not going to travel this year.

The interrogative .y

Wh word + am / is / are + Subject + going to + inf + .......

Where will he go ? What are you going to do ?
(WILL) e lacad it s gpledian ¥ 208 {90ty (ST g ol a0 (pudh (i Ve 833550 O (58
“No™ o “yes” 403t e wla¥1 0585y (Am / Is / Are + Subject + going £0) 4 Jipuud gy of

Will he go ? Are you going to come ?

@




Standardized Test
Of English Proficiency (STEP)

The passive in future tense  jaiaa 3 Jseomet!
, will + be + P.P + by + Subject _

(0 el | (o8 J ggomal| 1Sy
am / is / are / + going to + be + pp + by + Subject

Ali will buy a very good car.

A very good car will be bought by Ali. OR A very good car will be bought.
She is going to plant lots of trees.

Lots of trees are going to be planted by her. ~ OR Lots of trees arc going to be planted

16- Have something done:

(Jaatls ald gt Jelal 1aa el T a3 5 galll e s5 1 148 addnvid OF HSes i ot Ao gy 5o Ut Jai) Louis
2 pld oot ga 2 g gt g ealll ¢ P oS pasd 92 £ 2
s IS WSS g Jgeant! JISET (po JS& 929 cJadll dlan (o Jad (jSTy
Subject + have + possessive pronoun + thing + P.P
deld - have + 480e jueis + 5,0 + Jadll CIIN Cay sl

I

The mechanic has repaired my car, The technician is going to fix his computer.

I have had my car repaired. He is going to have his computer fixed.

ASLaT| praids (30 At Jgi o2 Jolatls il ialasmd!| (pe) s o puad have (ol daay

17- Transitive (VT) and intransitive (VI) verbs: Sotaiall g a3 Jaali
He raises his hand. P Jsaie oday el 1) ¥ dilen e LaiSy ¥ st oo (transitive) guaiel! Jast
The sun rises. ¢ Jaaie (gns PrPP T JeISs 501 ga (INtransitive) a3sui Jaati

18- Countable & Uncountable Nouns:

Countable ..t atiay Lo Uncountable at atld a1 el
MOre............ than 11115) ¢ N than
{5 e e than less......... than
the iez;st ......... the most theleast.... i the most

She has more pens than her sister.

We have more juice than the other group.

I have fewer pens than my sister.

She drinks coffee with less sugar than her friend.
Nouf has the most toys.

Ahmed has the least juice.

19- self / selves: auSlr yileiall g posnis
myself / yourself / himself / herself apiell Mona made the bed herself.
ourselves / yourselves / themselves el They saw the lion themselves.

cJelal way il O (S s Jgnaalt ma 35 OF (pSas S g1 e ¢ O] das Y
The king himself visited the hospital.
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20- Comparing using (short and long) adjectives :

regular adj.  elaiiatiClaall : ¥4
Adj. l Between 2 (things - persons) [ Between more than 2 (things -persons)

5 = el [ (i Cpus 3 jlaeld sLa¥ |/ yolsna¥) JSg o8 / paded (po @ )lasll
’ig% ...... +be +adj. +er than+...... Sl e S +be + the + adj. + est _
ta =] '3‘_. = =
‘_ié § Ali is taller than Hassan. Ali is the tallest boy in the class.

=]
‘; ¥ My bag is smaller than yours. My bag is the smallest one.

=
iz
1.7 : :
3T weE betmore sless Fadjthan v | e + be + the most + adj. +......
Yi @ e My car is more expensive than yours. Mai is the most intelligent girl of her classmates.
34 = The red bag is less beautiful than the blue one. This girl is the least beautiful one in the class.
Tl

E

irregular adj. sstan ol : Lol
t oo LeS Jadsd 1gisT g sucll lgule Gdaid ¥ 53la Slaw Wl
good - better than - the best

bad - worse than - the worst
far - farther than - the farthest
Mona is a good girl.

Mona is better than Sohair.

Mona is the best girl in the class.

The manager is wise. He is a wise manager.  : ;pidlal Gypilesd )l 3401 das
21- If Clauses :

If + present simple , will + inf el | B Sy B Gt 50l ¥ I pusas

If he studies hard, he will succeed.

Ifhe comes, call me e ¥ Alend a4

If + past simple , would + inf PIICTI | PP

[T had much money, I would buy a car. VT

[T were you, I would study hard. Asalld
IfI were a bird, I would fly. Wi SU-
If + past perfect , would have +P.P By g i e gl / puitd aastan " if " puscus

[f they had played well, they wouldn’t have lost.
22- Verbs followed by (V+ing)
—r Je (INEY | cBline Jad Lauiay ibs 1 JLad Y1 ay Tlia
enjoy, finish, imagine, look forward to, practise, continuous, start,

She enjoys playing tennis. I'm looking forward to seeing you.
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26- Possessives Using (apostrophe) sl

(87) 1 (¢8) + martfly 593 Al W1 012 (WhoSE) s 1t 018 13}
Whose book is it ? Itis Ali's OR Ttis Ali’s book. aaall. ('s) b

Whose books are these 7 These are the boys” OR  These are the boys’ books. romtt . (37) G

27- Joining sentences with: [and - but - or - too - about - the]

The car stopped and the driver got out. Odlaia Cpcbes SANd” day s
I went to visit Ahmed, but I didn’t find him. poiadlie Guiles “Dut” dasys
Do you like to have coffee or tea. mdalt “or” b

gl e et dulgh b 313 LgiSTy (ATte Blan B ((piiailnie (yiles «OOM day3
I enjoyed the view, she enjoyed the view too.
I enjoyed the view, she also enjoyed the view. Jelall aay 30 Leist dial mes “als0” als

gl iaa e Gt o] A3 g o gasnd | iy e gAY salt “about 107 pusius

She was about to leave when the fire started.

The sun / The moon / The earthe . Jis st ;2 Tty Ui W1 Lgie g ¥ A Welead pe «they pusius

The earth orbits around the sun.
(“d better) 4 juaisnig: TO O jiuas buay il 5 (Jads Of Juad¥) o) dmmaitt had better ausis
Skl W3 IS5 SLasiall IS pa (il iy s gt sl g sl B Gt s had o dasy

should wwus 3 would rather (“d rather) sluss

He'dbetter leave yesterday. You'dbetter travel tomorrow.
He'drather leave yesterday. You'drather travel tomorrow.
He should have left yesterday. You should travel tomorrow.
28- Some rules for making nouns Plural 85LEN SLaIS et el gal| s
boy —————>  DOYS &l pouiie by Lgis €YD 3 g3 OIS (3] dadd €S) Ablisl SLelSY paand
city —  cities “Y” I i do pi (She B Lgda Y7 4 o5 COlS 1) “TES” Ablal OLaST paai
box boxes ————  “es” ablalipesi “X”7 g1 “sh” 4i “Ch” gi “Z7 4i €07 51 U7 4 e aels IS 1)
tomato —_— tomatoes match ————p matches
knife ———»  knives “Ves iy disd  «fen 4 e delsy) cals 15

1Je oo LS dadsd (4STg ducld Lgude Gudaid ¥y 5318 SlalS WIlia

Singular Plural
man men foot feet
woman women tooth teeth =
child children | mouse mice_ -
person - people aircraft aircraft - a4

29- Indirect speech st 2 p3is
,..:..u-:.ngl....:@c,&hﬂl,._.;.se.,__,.am‘,t!‘,._.;e;,..3.11du_.:.2.'..;.-33,:.5.:.J..ai&pw,‘}iuam;,n‘-m1mpmtﬁa,.mq&me

e 3 O pealld | AT LS
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Standardized Test
of English Proficiency (STEP)

Ali said, “T’ll travel to Paris tomorrow”

Ali said he would travel to Paris the next day.

“order / ask / told /advise” )} “say” Jsa3 9 10+ infu e¥ialen da s e

The teacher said “Open your books” "
The teacher asked us to open our books” 27
N0t t0 +inf s Lall pa¥iday s e ¥ = Th

My Mother said “Don’t come late please.” I'w

My Mother told me not to come late, Dc

Yes /N0 o alga ¥
o8 prl Lo puidy e luadl Jadl) le Jelal! maidly &y s dlea o] et gond Lista (have/be/do/can) Jie uelus Jads lud y Lelgiin) das 2o & le
Jals Lasas il g ¢ 1T o dleadt day g Jihw ¥ asked” 1 «saId) elS Jgod 5 s Te

He said, “Are you going to buy a car?”

He asked me if’ | was going to buy a car. :
el Jaill e Jelall @aadio &y dles 11 gt 3o Lata (Where / when / how many) (e pleatu) 2eiss a9 dealgaiu alest! 258 & e
el Lauay 3l g 01500l 53 5 gad) Lo plgaiu ¥ 2alS 3 Alaad) day iy -Jlha oY «asked” L) «saidy dals Jami g alasd) S8 a5k e oty

He said,”Where are you going now?” “T

He asked me where I was going then.

A Jgnlt e inlalt M glinal (o S gt

Present present present

Then now this that these those o
L fl"\(_)’l:.qprrog_f the next day _}zesterQay the day before J - B I - He
30- The conjunctions .., He
Although / Though they are poor, they are happy. LRBLA e sty although / though s 28
He didn’t go to school because / as he was ilL g cosw 38 puaadlt because / as  pases bo
0Bl Jad + Jolb Louas Silig Ay wume 98 sttt in Order that / so that ascs cit
so that / in order that + S.+ can /could + inf bo

He does his best so that he can get high marks. {Er

-

st B Jadl) @adas il 10 RelS ael) B (Golud g S haes 1O/ In OTder 10/ 50 as 10 puscs
I go to school to / in order to / so as to learn.

31- a + number (more than one) + - + noun (single) + noun

bgoga Laas 3l g dusie 2aws @ + number (more than one) + - + noun(single) + noun  susos =8
You should take a two-day holiday. s

32- be + supposed to + inf. = should —

: am / is / are + supposed to + inf _
e ] P el (g polaast| 2

He is supposed to travel tomorrow.

was / were + supposed to + inf : L
g-‘"‘-‘-" gh > O o2 ey e

They were supposed to study hard.

(>3)




Punctuation ou9;3l wlolle

1- Full Stop (.) axzu

2- Comma () atolan

3- Colon () st 1 slkazit

PR PR St N
Aalll Alemtl Llgh oums @
: Jlia

My name is Khalid and I'm 16 years old.

After leaving the school, Omar went to study in Egypt.

8 puaimall LS Jony o @

a.m. - p.m. - etc. : Jlia

1 Ol

sloaddl jie @

i y3T 1B i ¥ (S0 Lol a3 3l el Calio¥W s 1 Aliolal] 0208 puings ¢ A Sle

s Jle

I like tea, coffee, juice and water.

(complex sentences ) s.daall Joxdl o (clauses ) Joll s fyus Jumill @
$ JL‘ZA

I played football with Ahmed. who studied with me.
80 009 Alasell fye atl)] (Saadl ¢ jandl gt @

s JL‘m

Fahad’s son, Ahmed. is smart.

LULMI ezl 315 ) 39 Juolgall Cyas Lo 131 1SN By Ll ALasel )

t Colalddmiuw
rdle sl Bty o @
The bag has the following items: laptop, mouse, charger and flash disk.

Pl yaliall a5 o uloa¥l 13 @
They said: “ The trip was amazing”.

That book says: “The computer is a sophisticated device”.



Standardized Test
of English Proficiency (STEP)

4- Apostrophe (') Luatt atotar

5- Question mark (7) algaius aedie

e

rolel Aa Y —
JL'LO asielr . 1-

We used Ahmed s car

Khalid is these stores ownes

E J||_'..,= shans W -

He's taller than Nasses

He is taller than Nasses

1 el A Y

o (e B Sl 3 e

Have you seen my glasses



Capitalization a4 W) dod&dl cay

S 0By STl 2y ‘q:u_._:u:‘nj_m'jﬁ]\
s e, Alentl S0 AL ol @

He is a player.

:Jtun .u.ﬂld‘n.:usq ;Lﬂui t_l.n+ L]

My father’s name is Mohammed.

s e Auslindl AV el 3 slawily aally Joadl sla] @
I went to Qatar.

Ahmed travelled from Riyadh.
Sultan has visited the Eiffel Tower.
e el e

My director is Mr. Waleed.

cJeagll 3y o g if Jia yubeall el (o yo Sl S5 @ ¥+ Al S

i J\:ua

Cancer and Society
 le alalll @
Sami speaks English.
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Instructions

Read the following passages, and then choose the best answer to each of
the questions that follow and mark it on your answer sheet.

1.

Passage 1

It seems that people don’t like rules as they think they represent a kind
of restrictions, but in fact life can’t be organized without rules. Peoples
always need rules and laws to be able to live and deal together. Can you
imagine even a game without rules; of course it will be a kind of mess.
When they are playing a game, they must follow its rules or it will be
unfair. Also everything in our life should be restricted with rules or it
becomes a mess and unfair. If there are no rules and everyone is free to
do whatever they want, most people will probably behave selfishly. We
need rules to help us get a long together and show respect to each other.

For example in schools, if a student ignores rule against talking in
class, the teacher will not be able to achieve his goal and other students
can’t concentrate. Drivers who don’t follow traffic laws can cause
serious accidents. Doctors, engineers, farmers, everyone in the society
must behave under rules. Most things we do are governed by rules
which may be unwritten like the rules of social politeness and back up
by the legal system.

All the rules and laws have the same purpose. They organized the
relations between individuals and the society to make it clear what is
right and wrong and what happens if someone breaks the rules. They
are designed to ensure fairness, safety and respect for other people’s
rights.

Most of us are basically honest, and knowing the rules means that we
usually try to follow them. One reason we do is to avoid punishment,
but the strongest argument for following the rules is to make the world
peaceful and fair.

The best title for this passage iS..............

V)]

How do we organize our life?

o

The importance of rules to games
The importance of rules to our life

d. Traffic rules

Section (1)
(1) @390l

G
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Standardized Test
0f English Proficiency (STEP)

2. Following the rules leads to .......... ]
cause accidents

a
b. behave selfishly

c. avoid punishment
d. get punishment
3. The writer thinks that...........
a. all of us are honest
b. few of us are honest
c. none of us are honest
d. the majority of us are honest
4. In every aspects of life people shouldn’t ...................
a. ignore rules
b. follow rules
c. governrules
d. control rules @
&
5. The noun from “clear” is........ Section (7)
a. clarified W $Sgoll
b. clarify e

c. clearness

o

clearly




Passage2

1. From far out in space, Earth looks like a blue ball. Since water covers

three-fourths of the Earth’s surface, blue is the color we see most. The
continents look brown, like small islands floating in the huge, blue sea.
White clouds wrap around the Earth like a light blanket. The Earth is
shaped like a sphere, or a ball. It is 25,000 miles around! It would take
more than a year to walk around the whole planet. A spaceship can fly
around the widest part of the sphere in only 90 minutes.

Even though spaceships have traveled to the Moon, people cannot
visit the Moon without special suits. The Moon has no air or water.
Plants and animals can’t live there either. Astronauts first landed on the
Moon in 1969. After that, there were six more trips to the Moon. They
brought back Moon rocks, which scientists are still studying. There are
holes, or craters, all over the Moon’s surface. Scientists believe that
meteorites smashed into the Moon millions of years ago and formed
the craters.

. The Sun is the closest star to Earth. A star is a hot ball of burning
gas. The Sun looks very big because it is so close. But the Sun is just
a medium-sized star. Billions of far-away stars are much bigger than
our Sun. The burning gases from the Sun are so hot that they warm
the Earth from 93 million miles away! Even though the Sun is always
glowing, the night here on Earth is dark. That’s because the Earth
rotates, or turns around, every 24 hours. During the day, the Earth faces
the Sun. Then we see light. During the night, the Earth turns away from
the Sun. Then it faces the darkness of space. Each day we learn more
about the Earth, the Moon, and the Sun.

Why is blue the color we see most when looking at Earth
from outer space?

a. Because most of the Earth is covered in land.
b. Because the Sun’s rays make the Earth look blue.

Because most of the Earth is covered in water.

a.

Because clouds wrap around the Earth.

=

@

-

Section (1)
(1) @390l
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Standardized T€8t
Of English Proficiency (STEP)

y

10.

11.

Read this sentence from the story.

Scientists believe that meteorites smashed into the Moon millions of
years ago and formed the craters.

What does formed mean?

a. hit

b. made

c. broke

d. stopped

What causes daylight on Earth?

a. The full Moon causes daylight.

b. Daylight is caused by.the Earth facing away from the Sun.
c. The heat of the Sun’s rays causes daylight.

d. Daylight is caused by the Earth facing toward the Sun.

Which of the following sentences BEST describes the Sun?

a. The Sun looks small because it is so far from Earth. @
b. The Sunis a ball of burning gases that gives the Earth heat and i
light. Section (1
c. The Sunis a small star. (1) @3g0il
d. The Sunis not as hot as it looks. : @

Why did the astronauts bring rocks back from the Moon?

a. Because they didn’t know if they would return to the Moon
ever again.

b. Because they wanted to prove that they went to the Moon.

c. Because they wanted to remember how the Moon looked.

d. Because they wanted to study them and learn more about the
Moon.

What is the main idea of the article?
a. Plants and animals can’t live on the Moon.

b.  Without the Sun we would have no heat or light.

~ €. We know a lot about the Earth, Moon, and Sun, but there is

still more to learn.

d. From outer space, the Earth looks tiny, even though it is
thousands of miles around.



Instructions

Choose the best answer to complete the following sentences and mark it
on your answer sheet.

12.

13

14.

15.

- 16.

o

Students ...... their classes through the whole of the year.
a. attends
b. attend

c. attended
d. has attended

Look! Ahmad is bleeding heavily. We ...... call the
emergency.

a. must
b. would have
could

d. will have

Sami ......... football these days. g

a. isnotplaying Section (1)
25901

b. is not played (sl

&

c. don’t play
d. isplay

Students from our university went to ..... Red Sea last week.

a. a
b. an
the

d. no article

Do you know Mohammad? Yes, he is .... good person.
a. a
b. an

the

d. no article



23.

Which of the following sentences is correctly capitalized?

a.

This Summer, my family will travel to Oman the whole
vacation.

This Summer, my Family will travel to Oman the whole
Vacation.

This summer, my family will travel to Oman the whole
vacation.

This summer, my family will travel to oman the whole
vacation.

Identify the incorrect underlined word or words and mark your response
on your answer sheet.

24,

Sarah and I enjoy writing letters to our friends and to help

others.

- SR

b. our friends
c. tohelp

d. writing

Our next meeting will take place next Monday on 5 pm at
this building.

a.
b.
C.
d.

will
Monday
on

at
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Key
QllCS.tiO;I_- Answer

1 e
2 c
3 a |
4 - a |

L 5 c

L 6 i L
7 b g
8 | d :
9 | b
10 d o
L1 c
12 b o
13 a ! )

. R Section (
14 a (1) @3g0dil
-~ : - e
16 a o
17 _b |
18 a

_ 19 a ]
20 c °
21 a
.22 c
23 c _. |
24 N c _ |
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Standardized Test
Of English Proficiency (STEP)

Instructions

Read the following passages, and then choose the best answer to each of

the

26.

27.

questions that follow and mark it on your answer sheet.

Passagel

Corn is the most popular crop in the United States. More than half the
corn in the US is grown in Iowa, Illinois, Nebraska, and Minnesota.
The state of Iowa grows the most. Corn grows almost everywhere.
China, Brazil, Mexico, Argentina, India and France grow lots of corn,
but the US grows the most.

Corn is an important food in many countries. People use corn flour,
called cornmeal, to make baked foods. People also eat cornflakes. At
first, people ate cornflakes only in the United States. Now people eat
cornflakes all over the world. Some corn is made in to popcorn. The
corn pops into light fluffy pieces filled with air. People can eat popcorn
as a snack. People in the U.S. like to eat corn on the cob. Some people
eat corn as a side dish or in salads. Corn syrup is a very sweet liquid.
Companies use it to make foods taste sweet.

In the US, farmers grow corn for their animals to eat. Cows eat corn.
Some companies put corn into food for other animals. For example,
some companies put corn in dog food. In Europe, people use corn as
fish bait called “dough balls.” They use corn to catch fish.

Some gas companies make fuel for cars and trucks from corn. The fuel
is ethanol. Some companies add ethanol to gas. Gas with ethanol is
cheaper than other gas.

Which country grows the most corn?
a. The United States.

b. Argentina.

c. Brazil.

d. India.

Which kind of corn is snack?

a. Dough balls.
b. Cornmeal.
c. Ethanol.

d. Popcorn.

| |

¥
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28.

29,

31,

32,

What fuel is made from corn?

a. Corninthe cob.

b. Corn syrup.
Cornflakes.

d. Ethanol.

What do people do with cornmeal?
Add it to gas.
Bake with it.

o o

Feed it to animals.

d. Make food sweet.

Which state grows the most corn?

a. Massachusetts.

b. Delaware.
Illinois.

d. Maine.

Corn syrup is a...

a. Fuel.
b. Bait.
c. Flour.
d. Liquid.

US is an abbreviation for...
a. Us.

b. Ourselves.

United States.

o o

Universal States.

Section (2)
() @390l
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34.

| DTG T 7‘
Passage2

As Faisal liked to live light, he always liked to travel light. So he had
only few things which helped him live anywhere. These things were
just few clothes, a book or two, and some personal things. Also he had a
bank account and these were all his possessions. It is worth mentioning
that he didn’t care if he spent a single night or a month or even a year
in any place he decided to stay. In that place he might stay in a hotel, a
furnished flat, or a nice house according to the money he had and the
period he stayed. But the best thing was that whatever the length, he
rarely needed anything he didn’t have with him. He was, he liked to
think, a self-contained person.

Faisal always felt worried as he had a sense of owning more than
would fit comfortably into his suitcase which he carried everywhere.
Consequently, when this feeling came to him, he immediately began
to throw the less important things he thought he wouldn’t need them
anymore. Sometime he gave his things to people he met in his journeys
and didn’t know them, let them in anyplace he stayed, or even threw
them in baskets in streets.

Faisal was a professional traveler, interested and interesting. He didn’t
like to stay in a country or a city for short time as he preferred to know
everything about their culture, civilization, customs, and traditions.
Also he liked to learn about their language to enlarge his knowledge.

When Faisal was asked about the advantages and disadvantages of his
life which gained from traveling, he said “I got much more knowledge,
learnt varies languages, had a lot of friendships, and I also earned a
little money. And I appreciated that for traveling.

The best title for this passage is .........
a. The advantage of travels
b. The disadvantages of travels

The story of travel’s lover

d. Why does a man travel

a. sometimes needed few things
b. never needed anything
almost never needed anything

d. always needed few things

-G
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35. Faisal seemed to...........

a. enjoy traveling
b. be asked to travel
prefer traveling to staying alone
d. earn living from traveling
36. Faisal used to...........

a. livein a furnished flat
b. make local tours
c. keep everything he owned

d. collect information during travels

37. The noun of furnished is ........c.c.....
a. further
b. furnace -
furnish

d. furniture

Instructions

Choose the best answer to complete the following sentences and mark it
on your answer sheet.

38. 1In 1995, Ahmad ....... 19 years old.

a. were
b. is

has been
d. was

39. This glass .... by Mohammad last night.

was broken

Q

were broken

o

has been broken

d. is broken

Section (2)
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40.

41.

42.

44.

People here ....... bow when they great each other.
a. don’t

b. doesn’t

c. isn’t

d. aren't

Khalid eats ..... apple daily.

a. a
b. an

the
d. no article

Do you want .... rice?

a. a
b. an
the
d. no article
If Mohammad ...... well, he would get this job.
a. does
b. did
has done
d. havedon
If you ...... play well, you will leave the team.
a. don’t
b. doesn’t
isn't
d. aren't

Which of the following is correctly punctuated?

Ahmed, Mohammad, Sami are my best friends.

o o

Ahmed, Mohammad and Sami are my best friends.
c. Ahmed, Mohammad and Sami, are my best friends.

d. Ahmed, Mohammad, Sami, are my best friends.

[ %Y
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46. Which of the following is correctly punctuated?
a. In 1993, Fahad and Faisal went to UK to study English
language.
b. In 1993. Fahad and Faisal went to UK to study English
language.
In 1993, Fahad, Faisal went to UK to study English language.

d. In 1993, Fahad and Faisal went to UK, to study English
language.

47. Which of the following sentences is correctly capitalized?
a. We had a trip to the red sea with mr. Ahmed, who is our
teacher, last month.
b. We had a trip to the Red Sea with Mr. Ahmad, who is our
teacher, last month.
c. We had a trip to the Red sea with Mr. Ahmad, who is our
teacher, last month.

d. We had a trip to the Red Sea with Mr. ahmad, who is our
teacher, last month.

48. The rabbit was killed ......... the loin. @
a. from .
b. in [ |
c. for Section (2)
g by () 23g04l
49. People know that the temperature in the summer ........ e
while it ........ in the winter.

a. increase / decrease
b. increases / decreases
c. hasincreased / has decreased

d. canincrease / can decrease

Semvpsii|
oz

nstructions

Identify the incorrect underlined word or words and mark your response
on your answer sheet.

50. Khalid and Ahmad is travelling tomorrow from Dammam
to Jeddah by bus.

Jeddah

tomorrow

by

is

oo T o
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Instructions

Read the following passages, and then choose the best answer to each of
the questions that follow and mark it on your answer sheet.

Passage 1

1. Helicopters are very different from airplanes. They can do three things
that airplanes cannot do. First, when airplanes move upward, they
must also move forward, but helicopters can move straight up without
moving ahead. Second, helicopters can fly backward, which airplanes
cannot do. Third, helicopters can use their rotors to hover in the air
(stay in one place) which is impossible for planes.

2. Because helicopters can perform actions that airplanes cannot, they
are used for different tasks. Since helicopters can take off without
moving forward, they do not need a runway for takeoff. They are used
in congested areas where there is no room for airplanes or in isolated
areas which do not have airports. Because they can hover, they are
used on firefighting missions to drop water on fires. They are used in
logging operations to lift trees out of forests. Helicopters are used as
air ambulances to airlift patients out of situations which are difficult
to reach by conventional ambulances. The police use helicopters to
follow suspects on the ground or to search for cars on the ground.
Of course, helicopters have military uses because of their design and
capabilities. [

()

Section (=
() @2goll

N

51. Helicopters are able to ...
a. Fly backward.
b. Move straight up.
Hover.
d. All of the above

52. When airplanes move upward ...
a. They must move sideways.
b. They must move forward.
c. They must move backwards.

d. Bothaand b are correct.




53.

58.

Helicopters are used in firefighting because...

11

They can hover above fire.

o

Their rotors can put out the fire.
They can reach difficult spots.

d. Both aand care correct.

How are helicopters used as ambulances?
a. They lift trees out of forests.

b. They chase suspects on the ground.

c. 'They can drop water on fires.

d. They airlift people out of accidents.

Why don’t helicopters need runways?
a. They are small.
b. They can fly backward.

They can hover in the air.

d. They can take off without moving forward.

Conventional means ...

a. For alarge group of people.
b. For emergency use.

c. Regular.

d. Created for the first time.

The best synonym for perform s ...

a. Fly.

b. Lift.
Do.

d. Can.

Hover means ...

a. Move straight up in the air.
b. Flysideways.

c. Go backwards in the air.

d. Stayin one place in the air.

*"'0
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60.

61.

Passage?2

Tennis is a sport played between two players (singles) or between two
teams of two players (doubles). Each player uses a tennis racket to
strike a hollow rubber ball covered with felt. To win, you must hit the
ball into the opponent’s court without the opponent being able to hit
the ball back.

Tennis originated in the United Kingdom in the late 19th century. At
first, people played tennis on courts made of grass! These were called
“lawn courts”. Now, tennis is played by millions of people all over the
world. The rules of tennis have changed very little since it was created
in the 1890s.

Most tennis players play tennis because it is fun. It also is a good way to
get exercise. While playing tennis, you do a lot of running. You move
your arms and legs in many ways that they do not normally move.

What do you use to hit a tennis ball?
a. Abat

b. Asticker

¢. Aracket

d. None of the above

....... people can play tennis at once.

a. One
b. Two
c. Four
d. Bothbandc

Where did tennis originate?
a. Australia.

b. Asia.

c. The United States.

d. The United Kingdom.




62. When did people start playing tennis?

w

The late 18th century.

23

The late 19th century.
The late 1800s.
d. Bothaandb.

63. Why do most people play tennis?

Because it is fun.

=

Because they want to win.
Because they don’t have a basketball.
d. Bothaandb.

o

Instructions

Identify the incorrect underlined word or words and mark your response

on your answer sheet. @

64. If Ahmad studies very well, he would pass the final exam 8

without difficulties. Section (3)
. () @3g0dll

a. studies
b. would e
c. pass ’
d. difficulties

Instructions

Choose the best answer to complete the following sentences and mark it
on your answer sheet.

65. When I got back last night I felt sick, ............... I couldn’t
sleep well.
a. and
b. after
c. since
d. because
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66.

67.

68.

69.

70.

Rashid: Where is your wife from? 6:
ERlaMY «conoamarars from Jeddah.
a. Sheis
b. She was
c. Itwas
d. Itis
63
It took Salma a long time to finish her ............. . She had
RO i sas i e to be done.
a. homeworks / assignments
b. homeworks / assignment
¢. homework / assignment
d. homework / assignments
I
Which of the following sentences has the correct word
order? Id
a. | doalways exercises in the morning. @ “
b. 1always do exercises in the morning. i &
| do exercises always in the morning. Section (2
d. |inthe morning always do exercises. () @350
Which of the following sentences is correctly capitalized? e
a. Salem travelled last Monday to Jeddah from Dammam.
b. Salem travelled last monday to Jeddah from Dammam.
c. Salem travelled last Monday to jeddah from dammam.
d. Salem travelled last monday to jeddah from dammam. I
C
Which of the following is correctly punctuated? a
a. Nader, who graduated from Harvard, has started an online
business. 6:

b. Nader, who graduated from Harvard has started an online
business.

¢. Nader who graduated from Harvard has started an online
business.

d. Nader who graduated from Harvard, has started an online
business.



71.

72,

74.

Which of the following is correctly punctuated?

a. My father who is a dentist is retiring this year.

b. My father, who is a dentist is retiring this year.
My father, who is a dentist, is retiring this year.

d. My father. who is a dentist is retiring this year.

If I was late 5 minutes more, I ...... find a place to sit.
a. wouldn’t
b. will not

c. shouldn’t

d. mustn't
Rivers contain ..... fresh water which has less quantity of
salt than ..... sea water has.
a. a
b. an
c. the
[ ]
d. no article | |
Section (3)
(l’u) 23g.0.ill

Everyone ..... a lot of benefits which can be used in good
ways. @
a. has _

b. have

c. hadhad

d. have been

Every two weeks, we ..... our grandmother and grandfather
at their home.

a. visited
b. visits
c. visit

d. have visited
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Instructions

Read the following passages, and then choose the best answer to each of

the

1.

76.

77.

questions that follow and mark it on your answer sheet.

Passage 1

Frogs live on land and in water. Frogs have long back legs and short
bodies. Their eyes stick out. They do not have tails. Most of the time
they move in the water, but they can also move on land. Frogs have
smooth, not bumpy, skin. They can breathe through their skin. Their
skin must stay wet so they can breathe through it. Young frogs must
breathe through their skin. Older frogs grow lungs. They breathe
through their lungs when they are on land, just like people do. Frogs
lay their eggs in ponds and other bodies of water, like lakes.

Frogs must move fast to catch something to eat. They must also get
away from bigger animals. Some frogs have webs of skin between
their toes. Webbed toes are good because it helps them to swim very
fast. Tree frogs have toe pads. The toe pads help them hang on when
they climb. When they climb, they move up trees or rocks. Some tree
frogs live high in very tall trees. Those tree frogs have webs between
their toes. They can jump from tree to tree. They can’t fly, but they can
stay in the air for a long jump.

A young frog’s skin must stay wet so....
a. The frog can swim.

b. The frog can climb.

c. The frog can lay eggs.

d. The frog can breathe.

Smooth skin is....

a. Not bumpy.

b. Not wet.

c. Bumpy.

d.  Wet.

-Q

Section (£
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78. Where do frogs lay their eggs?
a. Inwater
b. Onland
& Intrees

d. Under rocks

79. How are young and old frogs different?
a. Only older frogs have lungs.
b. Only young frogs can swim.

Only young frogs can live in water.

2

Only older frogs must have wet skin.

80. To hang on means to....

a. falldown
b. holdon
goon
d. None of the above =
B
81. Some frogs have toe pads to help them ... Section (4)
. (E) @3g0idl
a. Climb.
b. Swim. e
c. Jump.
d. Fly.

82. To climb means to...

a. Move fast.

b. Takein.
Move up.
d. Movein.

83. What helps frogs swim and jump?
a. Toe pads
b. Their lungs
c. Their smooth skin

d. Webs of skin between their toes
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78.
Choose the best answer to complete the following sentences and mark it
on your answer sheet.
84. Mohammad ...... an intermediate student this year.
a. is
b. was 79,
had been
d. are
85. These cars .......... in Korea and they are known for their
good engines.
a. aremade ' 80
b. ismade
c. hasmade
d. have made @
86. The teacher said: “ ....... anyone have a piece of paper?”’ i
a. Do Section 81
b. Does S
.s _ ™
d. Are
87. Mohammad asked his father if they need ..... sugar from
the market. 82
a. a
b. an
c. the
d. no article
88. Ooh! this s ..... enormous farm. Does it belong to you? 8
a. a
b. an
c. the

d. no article



89.

90.

91.

92.

93.

94.

If my friend plays football daily, he ...... fail in his study.

a. will

b. would
c. could
d. might

Which of the following is correctly punctuated?

a. At the beginning of every class students are supposed to
sharpen their pencils and be ready for the lesson.

b. At the beginning of every class, students are supposed to
sharpen their pencils, and be ready for the lesson.

c. At the beginning of every class students are supposed to
sharpen their pencils, and be ready for the lesson.

d. At the beginning of every class, students are supposed to
sharpen their pencils and be ready for the lesson.

Which of the following sentences is correctly capitalized?

a. The earthisthe only planet where humans can live.

b. The Earth is the only planet where humans can live.

c. The Earth is the only Planet where humans can live.

d. The Earth is the only planet where Humans can live.

Which of the following sentences is correctly capital_ized?

o

Kuwait is one of the arabian gulf countries, same as bahrain.

c. Kuwait is one of the Arabian Gulf countries, same as bahrain.

d. Kuwait is one of the Arabian gulf countries, same as Bahrain.

8 anis student in our school.
a. the weak
b. the weakest

c. much weaker

d. the most weak

Everyone does the homework, .....ccee they?
a. do

b. did

c. don't

d. didn’t

Kuwait is one of the Arabian Gulf countries, same as Bahrain.

Section (4)
(€) @390l
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95. She watched ......................
a. two programsin a time
b. that program two times
c. two programs for a time
d. atatime two programs
96. The rain in the Arab Gulf .......
a. are
b. is
c. was
d. were
97. At this time next Sunday Sami
a. have been traveling
b. could have traveled
c. might have traveled
d. will be traveling
98. Salah didn’t expect ....
a. tobe
b. to have
c. been
d. got
99. Hegot....... the bus.
a. on
b. to
in
d. at
Instructions

always heavy in the winter.

....... to Dammam.

«+..... invited to give a speech.

Identify the incorrect underlined word or words and mark your response
on your answer sheet.

100. Mohammad is doing his Ph.D. in Electrical Engineering
this year at an American university.

a
b.

C.

=

is
in
this year

American
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Instructions

Read the following passages, and then choose the best answer to each of
the questions that follow and mark it on your answer sheet.

Passage 1

1. The computer is a double-edge weapon. So some people are with and
others are against it. According to people who support it, they see that
we live at the age of the computer as it breaks through every field in our
life, for example medical, educational, engineering, and commercial
fields. In addition to many other fields everywhere.

2. These people also see that the computer is far more efficient than
human beings. It has much better and can store huge amounts of
information and it can do calculations in no time. The computer has a
great characteristic as it doesn’t suffer from lack of sleep, so it never
feels tired and works efficiently all the time.

3. One of the important parts of the computer is the internet which is
used for fun, paying bills, shopping, paying salaries, reserving seats on
planes, learning, and having courses in different fields. In addition to
telling tomorrow’s weather and many other jobs can do them accurately
and quickly.

4. Other people who don’t support the computer see that it is not important
to possess a computer at all neither in their homes, nor in their offices.
They prefer to depend on simple machines for communications such
as calculator, fax, typewriter, telephone, etc. They think with them
everything is done in a relax manner because they are easier and
simpler than the computer. As well as they avoid us taking the risk of
using computers.

5. These people also refuse to become part of the new internet world as it
is a matter of wasting time and gaining pad habits. They see that they
will never think of buying it even if it becomes able to think, able to
act on its own, or accept the responsibility for all mistakes it makes.

101. The best title for this passage iS........... of the computer
a. The advantages of the computer
b. The disadvantages of the computer

The advantages & disadvantages of the computer

d. The supporters to the computer

@

-

Section (5)
(0) @3go0idi

G




5i.andardized Test
of English Proficiency (STEP)

102. According to the passage the computer iS...........
a. bad
b. wonderful
c. old fashion
d. aknife with 2 edges
103. The noun from (medical) is.......
a. medically
b. medicine
¢. medical
d. medicinal
104. The supporters see that computers ........... many fields in
life.
a. inter
b. avoid
c. spoil
d. damage
105. The passage mentioned that computers are used in.............
a. cheating
b. playing chess
c. education
d. chatting

Instructions

Choose the best answer to complete the following sentences and mark it

on your answer sheet.
106. IfI ...... hard, I will pass the exam.
a. study
b. studied
c. studies
d. have studied

107. Either Khalid or Salem .... capable to be the leader.

a
b.

C.

A

is
are
were

have been

w
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108.

109.

110.

111.

112.

Ahmad ...... five times a day.

a. pray
b. prays
prayed
d. ispray
A huge amount of salt ...... taken from the sea water yearly.
a. s
b. was
are
d. were
Do you remember ...... book that I gave to you last year?
a. a
b. an
c. the
d. noarticle
|
If my brother ....... cautiously, he wouldn’t have that Section (5)
accident. (0) @3go0dl
a. drives @
b. drove :
c. hasdriven
d. had driven

Which of the following is correctly punctuated?

a. At the farmer’s market we bought tomatoes peppers,
eggplant, and onions.

b. At the farmer’s market we bought tomatoes, peppers,
eggplant, and onions.

c. Atthe farmer’s market we bought tomatoes, peppers,
eggplant and onions.

d. At the farmer’s market we bought tomatoes peppers,
eggplant, and, onions
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113.

114.

116.

117.

118.

119.

Which of the following sentences is correctly capitalized?

a. Mohammad and khalid are students at oxford university.

b. Mohammad and Khalid are students at oxford university.

Mohammad and Khalid are students at Oxford University.

d. Mohammad and khalid are students at Oxford University.

a. where Mohammad studies.

b. where do Mohammad study

c. where does Mohammad study
d. where Mohammad study

Ilearnta .......... way to do this.
using

useful

usefully

<

used

Mohammad was ...... happy when he saw his son.
a. much
b. very
c. too
d. many
o 180 YOG BRI . ocannensranssaireesinansnsonnas ?

Sara asked Khalid ....... he wanted to go.

what
why
where

a0 e

how

Fahed likes........ coffee. He always adds

sweet / some
sweet / a lot of
bitter / a lot of
bitter / a few

2 o T o

........ sugar to it.

The windows in the classroom ......... broken.

a. are
b. is

c. was
d

was being
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a
b. Everytime
c. Bythetime

o

As soon as

121. Mohammad doesn’t need ........ help.

a. amuch

b. some

c. afew

d. any
Instructions

Identify the incorrect underlined word or words and mark your response

on your answer sheet. :

122. Salem played football Jast Monday. He plays as a goalkeeper. g
a. played Section (5)
b. last Monday (0) @3g0ill

plays . @

d. agoalkeeper

=
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Instructions

Choose the best answer to complete the following sentences and mark it
on your answer sheet.

123. Salma doesn’t know ........ is a professor.
a. the woman wears white glasses
b. the woman wear white glasses
wear glasses woman

d. her with glasses

124. They asked me about .........cccoevveeirnennrennnnnss
a. who have | played with
b. what have | played with

c. who |l had played with
d. what had | played with

125. Khalid has known me since I .......... 3 years old.
d. am

b. have been
was
had been

a,

Section (5)
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Instructions

Directions: Read the passage. Then answer the questions below.

Passage 1

There is a small fire station in town. At this station, the firefighters are
volunteers. That means they work for free. The fire station gets some
money from the government to take care of the building and the fire truck.
But the fire station has a problem. Last winter, a pipe in the fire station
froze. Then it burst. Water went everywhere. There is a lot of damage.
Now the building cannot be used. What is worse, the fire station does
not have enough money for the repairs needed to fix the damage. The
people in town are worried about what will happen if there is a fire and no
working fire station. But they will figure out a way to solve the problem.
They always do!

-.@

126. What is The main problem in the town?

: irefi t mak 1 B

a. the firefighters do not make any money Section [}
b. a pipe in the fire station froze last winter. () 23g.0dli
c. people cannot fix the fire station. “ e

d. people in town are worried.

127. Asused inthe passage, which accurately describes something
that has damage?

a. Alibrary is closed on Sundays. People cannot check out books
that day.

b. A hose is used to water the garden. The water goes all over
the plants.

c. An old washing machine still works. It is almost 20 years old.

d. A stack of books fell on a computer. Now it will not turn on.

128. According to the author, the water went everywhere because

the pipe

a. froze.
b. burst.
c. leaked.
d. broke.

f68-
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129. In the passage, the author writes, “But they will figure out
a way to solve the problem.” In this sentence, the phrase
“solve the problem” most likely means

a. get more money.
b. fix the fire station.
c. make sure no fires happen.

d. make sure no pipes freeze.

130. The feeling at the end of the passage can best be described

as...

a. hopeful.

b. B.worried.
c. upset.

d. excited.

131. Based on information in the passage, it can be understood
that the people in town will be most likely to...

a. give money to the firefighters.
b. build a new fire station.
help fix the fire station themselves.

d. ask the firefighters to work for free.

132. Choose the word that is most nearly opposite in meaning to
the word in capital letters.

ORIGIN...
a. reason.
b. detour.
¢. understanding.

d. destination.

133. Which of the following sentences should end with an
exclamation mark?

a. whattimeis it
b.  Ouch! I hurt my hand
c. lam tired

d. where are we going

Section (&
(1) @3goil
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134. Which of the following sentences should end with a point?

a. | mustgetanew car soon
b. | am so happy right now
where have you been

d. |wonder how old is she

135. Choose the answer choice that best defines the word in capital
letters.

DROWSY
a. old.
b. ugly.
c. sleepy. ' |

d. wealthy.

136. The noun of solve is ......

a. solver.
b. solved. @
- ¢. solven. : | |
d. solving. Section (6)

(1) @3goill
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Instruction:

Directions: Read the passage,then answer the questions below.

Passage 2

A robot is a machine. But it is not just any machine. It is a special kind
of machine. It is a machine that moves. It follows instructions. The
instructions come from a computer. Because it is a machine, it does
not make mistakes. And it does not get tired. And it never complains.
Unless you tell it to!

Robots are all around us. Some robots are used to make things. For
example, robots can help make cars. Some robots are used to explore
dangerous places. For example, robots can help explore volcanoes.
Some robots are used to clean things. These robots can help vacuum
your house. Some robots can even recognize words. They can be used
to help answer telephone calls. Some robots look like humans. But most
robots do not. Most robots just look like machines.

Long ago, people imagined robots. Over 2,000 years ago, a famous poet
imagined robots. The poet’s name was Homer. His robots were made of
gold. They cleaned things and they made things. But they were not real.
They were imaginary. Nobody was able to make a real robot. The first
real robot was made in 1961. It was called Unimate. It was used to help
make cars. It looked like a giant arm.

In the future, we will have even more robots. They will do things that
we can’t do. Or they will do things that we don’t want to do. Or they
will do things that are too dangerous for us. Robots will help us fight
fires. They will help us fight wars. They will help us fight sickness.
They will help us discover things. They will help make life better.

137. As used in paragraph 1, we can understand that something

special is NOT
normal.

a
b. expensive.

o

perfect.

d. ftired.

Section (6)
() @3goill
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138. According to the author, robots may be used to...

I. make cars.

11. explore volcanoes.

II1. answer telephone calls.

a
b.
¢
d.

| only.

| and Il only.
Il and Il only.
I, 11, and IlL.

139. What is the main purpose of paragraph 2?

a. toshow how easy it is to make a robot.

b. totell what a robot is.

c. to describe the things a robot can do.

d. to explain the difference between a robot and a machine.

140. According to the passage, when was the first real robot

made? @

a. 1961. |

b. 1800. Section (6)
5003, (1) 23904l

d. 2000 years ago. - e

141. Which of these gives the best use of a robot?

a
b.
c

d.

to help make a sandwich.
to help tie shoes.
to help read a book.

to help explore Mars.

142. How does the author of this passage most likely feel about

robots?

a. Robots are old.

b. Robots are confusing.
c. Robots are helpful.

d. Robots are dangerous.



Standardized Test
Of English Proficiency (STEP)

143. Find the word that has been divided into syllable correctly.
Particular sound like ....

a. part-icu-lar.

b. par-ti-cu-lar.

c. part-ic-u-lar.

d. par-tic-u-lar.

144. they ........... Written ten letters to the governor.
a. has.
b. do.
c. have.
d. was.
145. The dog ........... to go outside. Please let him out.
a. wanted.
b. wants.
want.
d. has wanted.
146. The book’s ...... was shocking, since I never thought the

book would end with a major death.
a. beginning.

b. conclusion.

c. impression.

d. section.

147. The coach just wanted Sara to ......the new technique, so she
was upset when Sara refused to

-

1]

explain ... learn

4

perform ... enjoy
try ... attempt

d. examine ... understand.

Ll

Section (6)
(1) @290l



148. Nidal is voung to drive a car. He’ll be able to drive
when he’s older....

a. very.
b. too.
c. alok

d. fto.

Instructions

Identify the incorrect underlined word or words and mark your response
on your answer sheet.

149. Our mission seem impossible; nevertheless we tried our
best to accomplish it.

nevertheless.

a.
b. seemed.
c. accomplish.

d. writing.
Section (6)
() e2goddi

G

Direction:

150. A room containing a bathtub or shower and usually a
washbasin and toilet is.....

a. living room.

b. Dining room.

kitchen.

o

bathroom.
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| Question

Answer

| 126

©

127

128

129

130

131

132

135

134

135

136

137

138

139

| 140

141

142

143

144

145

146

147

148

149

(i@ |G| Bl | B ald | @ia |l |E|a@| @R 6|

|
|
|
) _ 150
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Instructions

Directions: Read the passage. Then answer the questions below.

Passage 1

1. It is easy to make a delicious-looking hamburger at home. But would
this hamburger still look delicious after it sat on your kitchen table under
very bright lights for six or seven hours? If someone took a picture or
made a video of this hamburger after the seventh hour, would anyone
want to eat it? More importantly, do you think you could get millions
of people to pay money for this hamburger?

2. These are the questions that fast food companies worry about when
they produce commercials or print ads for their products. Video and
photo shoots often last many hours. The lights that the photographers
use can be extremely hot. These conditions can cause the food to look
quite unappealing to potential consumers. Because of this, the menu
items that you see in fast food commercials are probably not actually

edible. @

| |

3. Let’s use the hamburger as an example. The first step towards building |
the perfect commercial hamburger is the bun. The food stylist—a Section (7)
person employed by the company to make sure the products look (V) @3godll

perfect—sorts through hundreds of buns. until he or she finds one with
no wrinkles. Next, the stylist carefully rearranges the sesame seeds on
the bun using glue and tweezers for maximum visual appeal. The bun
is then sprayed with a waterproofing solution so that it will not get
soggy from contact with other ingredients, the lights, or the humidity
in the room.

G

4. Next, the food stylist shapes a meat patty into a perfect circle. Only the
outside of the meat gets cooked— the inside is left raw so that the meat
remains moist. The food stylist then paints the outside of the meat patty
with a mixture of oil, molasses, and brown food coloring. Grill marks
are either painted on or seared into the meat using hot metal skewers. -

5. Finally, the food stylist searches through dozens of tomatoes and heads
of lettuce to find the best-looking produce. One leaf of the crispest
lettuce and one center slice of the reddest tomato are selected and then
sprayed with glycerin to keep them looking fresh. So the next time
you see a delectable hamburger in a fast food commercial, remember:
you're actually looking at glue, paint, raw meat, and glycerin! Are you
still hungry?




Standardized 1081

Of English Proficiency (STEP)

151.

152.

153.

154.

Questions

The author’s primary purpose is to...
a. convince readers not to eat at fast food restaurants.

b. explain how fast food companies make their food look delicious
in commerecials.

c. teach readers how to make delicious-looking food at home.

d. criticize fast food companies for lying about their products in
commercials.

According to the passage, fast food companies use things
like glue and glycerin on hamburgers that appear in
advertisements because.

|. no one actually has to eat the food used in the commercial

II. it is important that people who see these advertisements would
pay for the food being advertised

1. filming a commercial or a print ad can take a very long time

a. lonly.

b. landllonlyC. Il and Ill only. &
Section (7)

c. lland Il only. (V) @3godll

d. LI, andIllL ' @

As used in paragraph 2, something is edible if it...
a. can safely be eaten.

b. looks very delicious.

c. seems much smaller in real life.

d. tastes good.

According to the passage, a food stylist working on a
hamburger commercial might use glue to...

a. make sure the meat patty stays attached to the bun.
b. keep the sesame seeds on the bun in perfect order.
c. arrange the lettuce on the tomato.

d. . hold the entire hamburger together.




155.

156.

157.

158.

Based on information in the passage, it is most important
for the lettuce and tomato used in a fast food hamburger
commercial to...

a. have a great taste.

b. be the perfect shape and size.
appear natural.

d. look fresh.

Imagine that the author decides to change this passage so
that it talks about a cheeseburger instead of a hamburger.

Assume that the cheese goes directly on top of the hamburger
patty. If the author wants to include a paragra ph about how the
food stylist designs the cheese and places it on the meat patty,
this new paragraph would best fit into the passage

between paragraph 2 and paragraph 3.

o W

between paragraph 3 and paragraph 4.
between paragraph 4 and paragraph 5.

f o

between paragraph 5 and paragraph 6.

Section (7)
(V) 2agodll

G

As used in the final paragraph, which is the best synonym
for delectable?

a. disgusting
b. familiar

c. fake

o

delicious

Choose the word that is most nearly opposite in meaning to
the word in capital letters.

LUNLIKE...

a. differen.t
b. reverse.

similar.

d. separate.



Standardized Test
Of English Proficiency (STEP)

159. Choose the word that is most nearly opposite in meaning to
the word in capital letters.

II. DARK...
a. shady
b. dim.
c. brilliant.
d. colorful.

160. Which of the following sentences should end with a question
mark?

a. |lam so happy
b. hey everybody, look at him
c. what time did you go to the movie last night

d. |think we can go now

161. Which of the following sentences should end with an exclamation
mark?

I am so exited right now

a
b. Have you been there

n

teddy is a good man

B

| think we can eat hamburger

162. Choose the answer choice that best defines the word in
capital letters.

STRATEGY...
a. aplan.
b. agovernment.
a war.

d. aconclusion.

163. The adjective of potential is...

a. possibility.
b. possible.
potentiality .

d. impossible.

Section (7)
(V) @390l

&



Instructions

Directions: Read the passage, then answer the questions below.

Passage 2

1. If you visit Japan, you might choose to travel around the country by

shinkansen train. These high-speed trains connect the major cities of
Japan. They are nicknamed “bullet trains” because they go very fast
and have pointy noses like a bullet.

. Bullet trains are a good way to travel for several reasons other than
their speed. They are very punctual, often leaving on time to the
second. They are also comfortable. All the seats face forward, and
there is plenty of leg room. Most importantly, bullet trains are very
safe. In their 35-year history, there have been only a few accidents and
no deaths.

. The only downside to bullet trains is that they are expensive. A ticket
to travel to another city can cost almost as much as an airline ticket
would. However, if you fly, you will land at an airport at the edge of a
city. Train stations are usually right in the middle of a city. This means
that it is often more convenient to take a bullet train instead of flying,
because you will arrive exactly where you want to be.

164. What kind of train does the author talk about in this

passage?

a. shinkanset.
b. sinkansen.
c. shinkansea.

d. shinkansen.

165. These trains are nicknamed “bullet trains” because of their

a. safety and shape.
b. safety and timing.

c. speed and shape.

o

speed and timing.

‘..O

Section (7)
(V) 2390l

€
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Of English Proficiency (STEP)

166. This passage was most likely written for
a. tourists who travel to Japan.
b. Japanese business travelers.
people who are interested in Japan.

d. people who like to learn about trains.

167. In paragraph 2, we learn that bullet trains “are very
punctual.” As used in paragraph 2, which of these people
can also be described as punctual?

a. Antonio, who checks his work carefully to make sure there are
no mistakes.

b.  Rochelle, who has to have her desk organized in exactly the
right way.

c.  Carolyn, who always calls someone if she says she is going to.

d. Harvey, who is never late to class even when it is raining.

168. According to the author, bullet trains are comfortable
because....

I all the seats face forward. |
Il. there is plenty of leg room. Section (7)
(V) @3g0ili

Ill. there is extra space for bags.

a. lonly.
b. land Il only.

L

Il'and 111 only.
d. I Il,andIll.

169. As used in the final paragraph, the word downside most
nearly means...

a. hill,

b. problem.
argument.

d. mistake.



170. The author says that one reason to take a bullet train instead

171.

172.

173.

174.

of flying is because the bullet train is often...
a. much faster.
b. much cheaper.

more comfortable.

d. more convenient.

To help travelers decide between a bullet train and an
airplane, it would be most helpful for the author to add
information about...

a. how many seats each one has.
b. B. how many miles each one travels.
how much time each one takes.

d. which one most people choose.

Sami ........ the car yesterday?

a. Washed.

b. Was washing. @
Has washed. i

d. Had washed. Section (7)

(V) @3g0di

They ..... going to help uvs.

a. Have. ‘ e

b. had.
are.

d. were.

Find the word that has been divided into syllable correctly.

i

Teacher sound like ....

175.

a. t-eacher.
b. tea-cher.

teach-er.
d. te-acher.

did you come to school on Friday?

a. Yesldoes.
b. yes | had.

c. nolhavent,
d. noldidn’t.
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Key

Question Answer

» 151 B

152

153
154
155
156

157
158
159

| 160

161

162

?

Section (7)
(V) @agoill
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163
164
165
166
167

168

169
170
171
172
173
| 174
' 175
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Instruction

Listen carefully to the recording and then answer the questions. For each
question, choose the best answer and mark it on your answer sheet.

C.'JLA:I-L’:\‘"

Lla S0 (3 Lellls 3 ) JSI a1 Blayl 321 ALY e a3 plaliall [

o

&

o @

o

T W

o

Recording Number 1

¥ plly el

The relationship between different media.
The role of the print media.
Television’s effect on the movie industry.

Radio news as a substitute for newspapers.

People who listen to the radio also buy newspaper.
Newspapers discourage people from listening to the radio.
Many newspaper reporters also work in the radio industry.

Radio is a substitute for newspapers in people’s homes.

Television had no effect on movie attendance.
Motion picture popularity declined.
0Old motion pictures were often broadcast on television.

Movie attendance increased due to advertising on television.

To illustrate another effect of television.
To demonstrate the importance of televised sports.

To provide an example of something motion pictures can’t
present.

To explain why television replaced radio broadcasting.

e

@

Section (1)
(1) @390l
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Standardized Test
of English Proficiency (STEP)

Recording Number 2

Y ad, aeddl

5.
a. Tointroduce a new professor.
b. To describe the contents of a paper.
c. To review material that will be on a test.
d. To explain changes in the schedule.
6.
a. One week before end.
b. Atthe end.
c. Inthe middle.
d. At the beginning.
7 ®
a. Explain next week’s schedule. i
b. Administer an examination. Section (1)
Present a conference paper. SR
d. Take attendance in class. e
8.
a. Anexam will be given.
b. Class will be cancelled.
An optional review class will be given.
d. Aregular class will be given.




10.

11.

oo

n

o o

Recording Number 3
Y10 gt

Find 2 place to live.
Go to the store before it closes.

Get a ride home with Osama.

. Carry his groceries home.

The supermarket is just down the block.

He had only one bag of groceries.

c. He didn’t expect to buy a lot.

Q-

o @@

o

He thought he’d get a ride with Khalid.

They took him on a vacation with them.

. They are paying for his education.

They invited him to their party.

. They let him live with them for free.

R

@

-

Section (1)
(1) @3g0dll
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12.

13

14.
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Recording Number 4
¢ ad ) adait

The furnace room.
The storerooms.
The gift shop.

The central gallery.

The foundation.
The museum grounds.
Nineteen frescoes.

Several works of art.

A fresco.
The store next door.
The central heating.

The main part of museum.

They are not known yet.
They are covered by insurance.
They were more than the museum could afford.

They will cause a rise in admission prices.

Section (1)
(1) @300l
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Recording Number 35

o 13, gl

16.
a. He’s written a lot of letters recently.
b. He likes to mail his letters himself.
c. Hedoesn’t like to wire letters.
d. Heis happy to be here with his friends.
Recording Number 6
I8 el
b A
a. Tofind out if he has the flu.
b. To find out how to maintain a nutritious diet. =
To find out the results of a blood test. !
d. To find out how to prevent illness. Secti.'on (_ )
(1) 2390l

18. G

He doesn’t get enough exercise.

o

He often has difficulty sleeping.
He gets ill at the same time every year.

d. He’s sick with influenza throughout the winter.

19.

He forgets to take his medicine.

o @

He’s unwilling to be immunized.
He doesn’t dress warmly enough.

d. Hedoesn’t get enough rest.

20.

Physical examinations are given free there.

T o

He'll find literature on nutrition there.
He'll be able to get prescription for medication there.

d. He can get an influenza vaccination there.



Standardized TeSt
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Question Answer
1 a
2 a
3 b
4 a
5 d
6 c
7 b
8 ¢
9 d
10 c
il d
12 b
13 d
14 a
15 a
16 a
17 d
18 .
19 d

20 d

Section (1)
(1) @agodll
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Standardized Test
of English Proficiency (STEP)

Instruction

Listen carefully to the recording and then answer the guestions. For each
question, choose the best answer and mars :2 on vour answer sheet.

et ‘__'.!“i |

olal siis 3 Ll o8 e U oY1 Llay) 20 28 e ol bliell s aaul

Recording Number 7

V a3 , akeil

¥

.-\.L".' i

21.
a. Mental Effects of Eating Chocolate.
b. Chocolate, a world favorite.
c. Physical effects of eating chocolate.
d. Mental and physical effects of eating chocolate. @
5
22 '
Section (2)
a. Chocolate came from Africa. () @3g.0iJi
b. Chocolate came from Asia.
¢. Chocolate came from Europe. e
d. Chocolate came from the Americas.
23.
a. The Jamaicans Explorers Zello&Martines.
b. The Irish Explorers.
c. The Italian explorers Dony&Zenga.
d. The Spanish explorers Hern&Accue’n brought it to Spain.
24.
a. Itgives people quick energy and lower stress.
b. It gives people bad temper.
c. It gives people nothing.
d. It makes people feel bad.

95




25.

26.

27,

28.

o

g o

(]

2 o

a

g

.

Recording Number 8
A ad y adailt |

He didn’t like it as much as the other wings.

It was a waste of money.
He was amazed it had opened so soon.

He was impressed by it.

He read about it.
He worked there as a guide.
He wrote an article about it.

He took a tour of the city.

They were designed by the same person.
They came from the original wring.
They’re similar in shape.

They’re made of the same material.

It wasn’t large enough.
It was too heavy to put up.
It was made of aluminum.

It wouldn’t move in the wind.

Section (2)
() @3goddi
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29.

30.

3L,

32.

T o

.

T o

Y

g m

2.

Recording Number 9

Ty

Another student.
His academic advisor.
The college dean.

A ski instructor.

Her studies.
A vacation.
Going skiing.

The weather.

At her job.
At the beach.
At the school library.

At a ski resort.

Go to a ski resort.
Study for his exams.
Take a trip to the beach.

Think further about his vacation.

Section (2)
() @3g0dli
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34.

35.

36.

o

o ®

2

o o

oo Bop

Recording Number 10
Vgl gladd

Because of its smell.
Because of its behavior.
Because of its size.

Because of its eyes.

How large sea animals can be.
How frightening the squid is.
How sea animals manage to exist.

How little is known about the sea.

How light is used to attract sea life. |
How oceanic research has helped land research. Section (2)
(r) @3goill

Why it is difficult to use aerial photographs in research.

G

Why oceanic research is so limited.

In the nets of fisherman.
In written records by early.

In fossils on land.

Resting on the ocean floor.
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Recording Number 11
V) Al adedtl

37,
a. The impact of enzymes on chemical reactions.
b. Types of chemical products created with enzymes.
c. The way the body produces enzymes.
d. The structure of enzymes.
38.
a. It produces more of the enzyme.
b. It divides into two different parts.
It keeps the same chemical structure.
d. It becomes part of a new chemical compound.
39.
a. To explain what enzymes are made of.
b. To describe different types of enzymes.
! c. Toshow that enzymes are very effective.
d. To point out that enzymes can sometimes fail to work.
|
40.
a. Provide extra energy to start the reaction.
b. Raise the temperature of the chemicals.

Lower the amount of energy needed to sun the reaction.

‘ d. Release a chemical needed to start the reaction.
[

[99)

Section (2)
(r) @3qodli
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Key

Question Answer
21 b
22 d
23 d
24 a
25 d
26 a
27 c
28 b
29 a
30 a
31 b
32 b
33 c
34 d
35 d
36 c
37 a
38 c
39 d
40 &

e

©)

Section (2)
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Instruction

Listen carefully to the recording and then answer the questions. For each
question, choose the best answer and mark it on your answer sheet.

Slaatasill

Dol i 3 Ll 3 1 s S ¥ Dol 0 T e cinf o8 il T psied

Recording Number 1
| i

41. Which sentence from the passage best describes the main
idea?
a. ”We use cloth to make lots of things.”
b. »Metal is very heavy.»
c. »There are 5 basic materials.»

d. »Ahelmet and a bag seem different.»

42. According to the passage, which of these things is a material?

a. chairs.

b. clothing.
c. windows.
d. wood.

43. According to the passage, how does glass feel?
a. smooth and cool.
b. warm and soft.

light and hard.

d. sharp and heavy.

o

44, In paragraph 4, the passage says, “Wood is lighter than
metal and glass.” What is the main purpose of this sentence?

a. to explain something.
b. torecommend something.

to compare something.

o o

to demonstrate something.

;i

=

Section (3)
() @3godll
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Recording Number 2
Tl i)

45. Which of the following would be the best title for this
passage?

a.
b.
G
d.

Why Doctors Disagree about Flossing.
How to Keep Your Teeth Healthy.
Flossing Your Way to a Healthy Heart.

Flossing by Coincidence.

46. Flossing effectively helps to keep your mouth healthy by

preventing....

a. germs from producing acid.

b. food from entering your body

c. germs from entering into your blood.

d. acid from contacting your teeth and gums.

47. In paragraph 2, the author introduces ideas about how
flossing works to keep your heart healthy. Exactly how many
of these ideas does the author put forth in this paragraph?

a
b.
C
d.

1
2
3.
4

48. Which of the following best states the main idea of the final

paragraph?

a. Because doctors do not agree that flossing will help your
heart, it is useless to floss.

b. Itisa fact that flossing can help your heart as well as your
teeth.

c. Evenifflossing is only good for your teeth, you should still do
it every day.

d. Thereis no good reason to believe that flossing will help your

heart, but it is still a good idea to do it every day.
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what is The main purpose of paragraph 1?
a. accept a conclusion.
b. introduce an argument.

provide a brief history.

e

deny a common belief.

what is the best title for this passage?
a. Earth’s Many Deserts.

b.  Antarctica: The Coldest Place on Earth.
c. ADesert of Ice.

d. Unusual Blizzards.

Africa’s Sahara Desert is the second-largest desert on earth.
Based on the information in the passage, what characteristic
must the Sahara share with Antarctica?

a. low temperatures.

b. high temperatures.

c. frequent blizzards.

d. low precipitation.

Based on the information in the final paragraph, it can
be understood that blizzards in Antarctica are mainly the
result of

a. freezing cold temperatures.
b. large amounts of snowfall.

low amounts of precipitation.

o op

strong winds.

The author’s main purpose in writing this passage is to...
a. describe the history of pizza.
b. teach a healthier way to make pizza.

outline steps to make a basic pizza at home.

d. provide tips about how to make your pizza especially deli-
cious.
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Standardized Test
of English Proficiency (STEP)

54.

55,

56.

51,

58.

As used in paragraph 1, which word means the opposite of
complicated?

a. difficult.
b. simple.
c. easy.

d. manageable.

As used in paragraph 3, which is the best synonym for
purchase?

a. forget.
b. buy.

c. ask.

d. cook

In paragraph 3, the author writes, “Many jarred sauces
taste almost as good as the kind you make at home.” The
purpose of this statement is to..

a. clarify a later statement.
b. provide an example.
c. clarify an earlier statement.

d. support the previous paragraph.

This passage would most likely be found in...
a. an editorial in a local newspaper.
b. abrochure for prospective homeowners in Ellwood Acres.

an encyclopedia article about the history of highways.

L

personal letter from a son to his father.

Where in the full article is this paragraph most likely to
appear’?

a. near the beginning.
b. nearthe end.

c. inthe middle.

o

it could appear anywhere.
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39,

60.

As used in the passage, which is the best definition for
depreciate?

a.
b.

to diminish in popularity.
to decrease in value.
to accumulate over time.

to improve with age.

Which of the following pieces of information, if included,
would provide the best additional support for the author’s
argument as presented in this passage?

a.

In 2008, the author’s youngest child was killed by a drunk
driver.

Pollution is harmful to the environment.

According to a recent magazine study, white noise (similar to
that produced by traffic) was rated the number one cause of

daytime napping.
In 2011, homeowners who live near interstate traffic saw a
20% reduction in the value of their homes. @
| |
|
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Standardized TeSt

of English Proficiency (STEP)

Key
Question Answer
41 c
42 d
43 a
44 c
45 &
46 d
47 b
48 e
49 d
50 c
51 d
52 d
3 c
54 b
55 b
56 c
37 a
58 b
59 b
60 d
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